33. Mrs. Smithwrote “Eight less than three

times a number is greater than fifteen” on
the board. Ifx represents the number, which
inequality is a correct translation of this

statement?
3x—8>15 C.8-—3x>15
B. 3x-8< 15 D. 8—3x <15

34. There is a negative correlation between the
number of hours a student watches
television and his or her social studies test
score. Whichscatterplot below displays

this correlation?
A a C. ‘

L “EHHHY

1 PHTTE

L-ttf-rdq S SN 2 “-'!'[!

¥ HEH T

i B & W

b P
° 19 ¢ [ 19

Number of Hours Number of Hours

Note: negative correlation is
B. 4 represgpted by a negative slope
'“4- ‘v _’T 'l." 100 - .ot
. =4
o




35. When 3g® — 4g + 2 is subtracted from
7g9* + 5g — 1, the difference is

A. —4g°—9g+3

B. 4g°+g+1

C. 4g°+9g—3 CLT
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36. Factored completely. the expression
2x% + 10x — 12 is equivalent to

A 2(x—6)(x+1)

@Z(GX'EQ x—1) 9'26( +5)("é>
C. 2(x+2)(x+3) ;Z (X‘I'Q(X D
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37. Factored, the expression 16x% — 25y7 is

equivalent to C L})L“'S- ‘3) (Lf)t + 5;9

.(4x 5y)(4x+ 5y)
B. (4x—5y)(4x—5y )I-ts fl\ed #mnf,t
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Multinly.

38. What is the groduct of 3x? y and
(5xy?% + xy)?

D. (8x—5y)(8x— 51)

A.] —15x3y® — 3x3y?

B. —15x3y3 —3x3y

C. —15x%y? —3x%y
D. —15x3 1 + xy

= Bxg (5)(7 ‘)‘X’j)

Note: Multiplication is commutative, but it was easier
to put the -3x?y first so that we could distribute from the front.



39. Which value of x makes the expression g

undefined?
Cﬁ/é;q_7
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B. 3 D. 0
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40. Which expression represents 2::::25 i
simplest form?
x £ =
x x—5
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In the denominator, it was the
difference of two squares pattern again.



